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Questions 110 10 carry 1 mark each. Questions 1 to 15 carry 2 marks each.

For each question, 4 options are given. Only one of them is correct.

Make your cheice (1, 2, 3 or 4). Shade the correct oval in the Optical Answer Sheet
{OAS) provided. {20 marks)

1. 70 thousands + 7 thousands + 7 ones =

Whatis the missing value in the blank?

(1) 70707
{2) 77007

(3) 707 007 |
{4} 707 767 o { )
2. Which of the following shapes cannot tessellate?

(1) ﬁ (3) LE
(2) Q & ¢

( )
3. Write 10 + 1 P as a decimal.
10 1000 :
(1)  10.015
(2) 10.105
(3) 10.150 |
4) 10.510 ()
4. = expressed as a percentage is
) .
>y 01s%
@) 1.80%
{3) 18.0%
(4)  180% - ' ()
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5 Which cne of the numbers below is 13 000 when rounded off to the nearest
thousand?

(1) 13768

(2) 13678
(3) 13548
{4) 13458 ( )
6. %f of Ribena drink was shared equally among 3 fiends. How many litres of

Ribena did each friend get?

() 2l
10
G
2) A
(2) "
3
3 = ¢
(3) 0
27
4 =y )
@) 160 . (

7. At the Underwater World, 35% of the visitors are children while the rest are adults.
Express the ratio of the number of ché!dre@the number of adults in the simplest
form. ) '

{1) 7:13

(2) 7:20

(3 13:7 ,

{4y 20:7 - | )

8. Find { 84.6 - 1.35) = 100.

(1)  0.8325 th
{(2) 0.8335

(3) 8 325

(4) 8335 ( )



5. The figure below is made up of a triangle and a square. Find the area of the figure.
(Figure is not drawn to scale.)

}

| \\
i
] N
5 —p % > :
Bem gcm o o
(1) 14 em?
(2) 48 cm?
{3} 60 cm? | |
4) 84cm? { )

10. A baker used 1kg 200g of sugar and had 800g left.
What fraction of sugar had he lefti? '

2
1 =
(1) 3
' 3
2 d
(2} .
@ 2
5
. 1
(4) 3 { )
1. Study the following number pattern.
~ | 3',7-,15,"—l,‘ 63, 127
1S
@ 23
Q 2
f\‘\ aTg
3 30 __
@ 3 « )
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12. Janice spent 1—%01‘ her savings on bocks and donated $15 from her savings.

She had % of her savings left. How much was her savings at first?

(1) %5

(2) %25

3y  $50

(4) %65 { )

13.  If 4is added to % of a number, the resuit is 19.

What is the num?;er?

(1) 15
(2) 75
(3) 95
(4) 99 { )

14.  The average mass of John and Sam is 48 kg. The ratio of Jg)’hn’sfmass ib“:S;am’s
mass is b : 3. Find John's mass.

(1) 18kg

(2) 30kg

(3) 36 kg

(4) 60kg ( )

16
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15.  In the figure below, not drawn to scale, ABCD is a parallelogram and DCE is a
straight line. Calculate ~ ABE.

%
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Section B (30 marks)

Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.
Give your answers in the units stated. _ (10 marks)

16.  Arrange the cards below to form the greatest S-digit number that is smaller than

75000
3 o) 7 4 9
Ans:
5 3 5 5 5 5
17. —_ t =+ — v = =+ . xi .
12 12 12 12 12 12 D

Find the missing number in the box.

Ans:

18.  Findthe value of 150-4x5+10+4 =

Ans:

19.  The average of 7 numbers is 14.86. Find the sum of the numbers.
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: >
20.  Jenna bought 3%!(9 of squid. Salha bought 1%!(9 mcere squid than Jenna. How

many Kilograms of squid did Saiha buy altegetker? Express you apswer as a
mixed number. :

Ans: : kg

21.  Linda baked a cake. She ate ';1" of it and shared the rest amofig 9 of her friends.

What fraction of the cake did each of her friends get?

Ans:
22. ABCis an equilateral triangle.
ACD s anisosceles triangle.
Find ~ y.
(8D
Ans: °
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23. Samuel is facing northwest after turning 135° clockwise. In which direction was she
facing af first? _ :

Northwest Northeast

N

Westa— East

Southwest Scutheast

South

Ans:

24.

in the figure aoove, not drawn o scale, AB, PQ and XY are étraig‘ni lines.
ZAXP is a right angle and ZYXQ = 54°. Find the value of /BXY.,

Ans:

25. - Felicia has 65 stickers. She has 30 more stickers than Mary. _ -
Express the number of stickers Feliciahas as a percentage of the total number of
stickers. ‘

1y

L e



Questions 26 to 35 carry 2 marks each. Show your workings clearly in the space below
each question and write your answers in the spaces provided. For questions which
require units, give your answers in the units stated. (20 marks)

FehA
26. Felica had $75. He speni

pag. How much money did he spend aitogether?

. ~ 2 .
of ine money on textbooks and 3 of his money on a

[V

Ans: 3

a0
=l

Patricia and Melissa share some lollipops in the ratio of 7 : 5. Afiér Patricia has
given Melissa 8 *oihporv, they have the same number of lollip ipops. How many
tollipops do they have altogether?

Ans: Jollipops

28. The total volume of the cubes shown below is 242 cmd.
What is the length of each side of the cube?

Ans: CiTt




29. ABCDisa rhombus not drawn to scale. Find /£ x.
A ¥

130°

ANSs:

30. The perimeter of a rectangle is 56cm. The ratio of its length to its breadth is5:2.
Find its breadth. '

Ans: cm

31, Betty, Candy and Dora saved $24in total. Betty and Candy {ogether saved $59.
Candy and Dora together saved $58. How much did Candy save?

Ans:

LU Lo

E=28




32. Teng was given one large pizza. He ate % of it and gave 3 of the remainder

equally to his four friends. What fraction of the pizza did each friend receive?

Ans:

33. " Falimah paid $612 for a video camera and an ircn. The video caméra costs 5 times
as rmuch as an iron. Find the cost of the video camera. '

Ans: &

1 1 - - . .
34.in a class of 30 boys and 20 girls, ?5 of the boys and io?f the girls like to watch
cartoons. What fraction of the dass‘;u}?e to watch cartoons? Give your answer in
ke

the simplest form.

 Ans:
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35. The figure is madse up- of seven simi
What is the perimeter of the ﬁgure?

lar equilateral triangles.

15K

e
|
[%)]

Cim




Section C (50 marks)

For questions 38 o 48, show your workings clearly in the space provided for each
question and write your answers in the spaces provided. The number of marks available
is shown in bracksts [ ] at the end of each guestion or part-question.

36. The tank shown below is —?— filled with water.

10 cm

K’ch

&
Y

30 cm

(@)  Whatis the height of the tank?
(b} How much more water is needed to fili up the rest of the tank?

fS%
Ans : (a) [2m]
(o) [m]
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37.  The figure ACFD shown below is divided into 2 equal parts. AB = BC. What is the
area of the shaded parts given that they are identical to each other?

A

B c

Ans : i3m]

38.  Hermione had 193 stamps. She gave 43 of th'erp to Ron and gave 14% of the
remainderto Fred. How many stamps had she left?

Ans : ' [3mj

R AN i R o e




30. The -average number of patrons in cinemas A, B, C and D is 350. There are 750
patrons i cinemas A and B. If there are 86 more patrons in cinema C thanin
cinema D, how many patrons are there in cinema C?

40. At Bake Bltez bakery,

Ans

_[3m]

the price of one fresh loaf of bread is$1. However, if there

are leftovers, each of these loaves is sold $0.40 cheaper on the next day. The
table below shows the number of loaves baked and sold over two days. On

August 2™, ali loaves were sold. Find the tolal earnings for the two days.

Day Number of loaves baked | Total number sold |
August 1% 30 62
August2™ 90 118
15§
Ans : [3m]
NHPS P5SA2 2007 10 | /6 marks



41,

A fuil tank of petrol normally costs $60. The table below shows the discounts

offered by 2 petrol stations

Petrol Station - Discounts Offered
A 15%
B 10% + $2 cash discoun ,
|

if Mdm Lim chooses to pump $60 worth of petrol at the staticn that has 3 greater

overall discount, how much wili she save?

Ans :

f3m]




4

42.  Alice and Bernard had 160 erasers altogether. Alice gave -;- of her erasers to

Carl arid Bemard gave 27 of his erasers fo Carl. Then both Alice and Bernara
had the same number of erasers left. How many erasers did Bernard have at first?

Ans :  f4m]
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43.  The following line graph shows Poiter's menthly savings from the month of July to
December. Study the graph carefully and answer the guesiions below.

950
3060
850
800
750
700
650
600
550
500
450
400
350
300
250
260
150
100
50 A

0 : : : ; ; :

Potter's savings per month

July August September OCcicher MNovember December
Month

(a) How much did Potter save from July to November?

(D) Poi;ér earns $1 500 a month. What percentage of the salary did he save,
in the month of December? Round off your answer to 2 decimal places.

(&




A4 ABFG and BCDE are squares (not drawn to scale).
Find the area of the shaded region.

gcm

3cm

ANS : {4m]}
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45. The fatidiof the number of pears {5the number of mangoes in Basket A and in

BaskeiBare2:1and 2:7 respectively. Basket A has % limes as many fruits as

Basket B.

(a) Find the ratio of the numbey of pears in Basket B to the number of péar* in
Basket A.

{b) When 18 mangoes are moved from Basket B to Basket A. the ratio of the
number of pears o the number of mangoes in Basket A becomes 8 : 7.
How many mangoes are there in Basket A now?

[2m]

I3m}




46.  Study the sclid figure beiow.

{a) How many unit cubes are needed to build the solid figure shown above?

{b) More layers are added to the soiid.
Comptlete the table below.

| Layers 1™ 2™ 3 FL D S
Mumber l
of unit 1 a4 g 16 by b 1 (by
cubes - ) il S

{c) Find the number of layers if 225 cubes are used.

144

Ans 2 (a) [1m]
(b)Eilllifi the table atiove [2m]

(c) {2mj

NHPQ PERA? 2007 . 16 V ! 5 marks




47.

(ks

James has 46% as many game cards as Sean. Ssan has
cards as Wiilie. James and Sean have'm&game cards alt

80% as many game
ogether.

(a) How many game cards does Willie have?
{k) How many more game cards does Wiltie have than James?
Ans : {a) b




48 Melvin and Philip have a collection of coins from America and Europe. Melvin and

Philip have an equal number of coins from America. g- of Philip’s coins are from

4
3 i LW 3 e ¥ 4 H
America and 13 of Melvin's coins are from Europe. Given that both of them have

1 total of 12 coins from Europe, how many coins does each of them have?

/¢4

Ans : Melvin has coins -

Philip has coins
A5m]

l /5 marks
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16,

20,

22,

26.

28.

Nan Hua Primary School

Primarv 5 Maths SA2 Exam (2007)

01 Q2 03 - Q4 Q3
2 4 2 3 4
Q6 Q7 Q8 Q3 Q16
3 i 1 3 3]

QU T2 Q13 Ql4 Q15

| 4 3 2 4 4

4963 17. 3

152 19. 104.02

413 i

20 4

1500 23. South

36° 25, 65%

365 27. 56

Iem 29, 25°

Scerm 31, 323

]

s 33. $510

4

55 35. 60cm

Page 1 of 4



(%)
g
®

36b.

37.

73]
?b

40.

i

5
:/: of tank Hem x 8cem x 10em = 2406cm?

—;woftaﬂ}( = 2400omw® - 5 = 480cm?

1
; of height = 30cm x 8cm xZem = 480cm?

Height of tank = 2em x 7 = 14em
The height of the tank is 14em

Remainder height = ldem ~ 10em = 4em
am. Wat. Nee = 30cm x 8cem x dem = 960cm®
Jadem® more water is needed.

48m < 2= 24m
1 1
— pfshaded = — x 24m 3 7 = 84mw°
2 2

Shaded = B4m® x 2 = 168w’

Total shaded = 168m*® x 2 = 336m?

The area is 336m”

Ron = 43

Herm = 193 - 43 = 150

Left = 130 x (100% - 14%) = 129
Hermione had 129 stamps left.

Total = 350 1 4 = 1400

€ & Deotal = 1460 — 750 = 659
Zunits = 650 — 86 = 564

1 unit = 282

Cinema = 282 + 8 = 368
There are 368 patrons in Cinema C

Aungust 1st

62 fresh losves = 62 x $1 = $62

August 2%

Leftover = 90 — 62 = 28

me from left = 28 x ($1.09 - 0.40) = $16.80
fresh loaves’s money = 90 X $1 = §$90

total carned = $(62 + 50 + 16.80) = $168.80
The total earning is $168.80
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41.

43a.

43b.

Petrol Station A
She pays = $60 x 85% = 851

Peirel Station B

She pays = 360 x %0% = $52
A = 851 {cheaper)
B = 5§52
$60 — 851 = %9
She will save §3
166

7units = 160 ~ 2 = 133

Tunit = i%

Bernard at first = 1% x 3 + 27 = 84
Bernard had 84 erasers at first.

Total saving from July to Nov = $(450 + 900 + 650 + 150 + 300)
5

= 32459
Potter saved $2450
33.33%
He save 33% of his salary.
Area of whele figere including 2added part = 6em x Jem = S4cm®

I
Area of GRA = ~2~ x 6em ¥ Gem = 18cm?

1
Area of GZD = 5 x %em x 3em = 13.5¢m?
Area of EBBC = 3cm x3em = %em’
Areaof shaded region = (34 — 18 — 13.5 — e

= 13.5cm?
The area is i3.5em”

1:2

42 mangoes
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48.

1+4+9+16 = 30
30 cubes are needed.

25, &1

15 x 15 = 225
There are 15 layers
150 cards

102 cards

4 units = 12
1uniti =3

Melvin 3x15 =45
Philip =13 x 3 =39
Melvin has 45 coins
Philip has 39 coins
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